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11. In case of any ambiguity in Hindi version the English
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- PART -1 (Physics)
Wt — I (fae )

The ratio of weights of a man inside a lift when
it is stationary and when it is going down with
auniform acceleration ‘a’ is 3 : 2. The value of

‘a’is—

(A)

os

®)

Wi wijte Njw

©)

4]

D) g

Three rings each of mass M and radius R are

arranged as shown in Fig. The moment of

inertia of the system about yy’ axis will be —
_ y »

g e s

(A) 3 MR?
B) =MR?

(C) SMR?*

(D) —MR?

1

ek =ies o1 forwe A WK, 99 98 TR 3 a1 5E
I8 U I R0 ‘a’ ¥ HiE S 8, S
3:27%, O ‘a’ F AW g -

A) e

oW

®)

©

9 i wloe

D)

M g=5A 9 R o % i gert @ R
foame sER sHefta T e ¥ | P @

yy' 3181 % wier weew st g -
y

(A) 3MR?
B) =MR?
(C) 5SMR?

T et
D) = MR?
) 5
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5

'The moment of inertia of two bodies A and

B rotating freely are reéspectively I, and Ig -

(I > Ig) and their angular momentum are ¢ ual.
: SHF : Ll

If their kinetic energies are K , and Ky, then

(A) Ka=Kg
B) Ka>Ksp
(C) Ka<Ks
D) Ka = 2Kp

If G is the universal gravitational constant-and
p is the density of a planet, the period of
revolution of a satellite revolving in a circular
orbit near the surface of that planet will be +

@GP
(B) J3GP/ 7«

.(C) JG/S?‘[P

3r
@) \Gp.

Volume versus temperature graph for a given
mass of an ideal gas is shown in Fig. at two
different values of constant pressure Py and P,.

What can be inferred about relation

between Py and Py ?

A P>P; v P,
B) P =P, @ Py
(€) Pichy

(D) Data is insufficient

rlx(k) N v

A) P>P v

A ol W w8 fvdl A @ B % Sige

) ; f :IAHI;;‘§(1A>IB)3ﬁ?mﬁUﬁa
ST SR |

AR § | 9f S i St K 3 Ky
g,

1

(A) Ka=Kg
B) Ka>Ky
(© Ka<Kp
D) Ka=2Kg

o G T o fdi @ @ p

- el g o weE B, A e % I SR TR

e} URGAv R A10 SR & U S WH
CIERCAC RIS

@ JGp

®B)  J3GP/7x

© JG/3zp

D) \Gp
o 2 e o @1 Py 7 P e 3
feu 19 zomm % o sroaRleg dm W aw
euiar T R | Py @ P, % Aed Gy h AR
R TEFER ITH Bl § 9

I
(B) P;=P, L

(C) Pi<Psy

) s o 7 R
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6.  Consider P-V diagram for an ideal gasas 6. FE# aﬁasfﬁgis%q P-V 3@ ey i B |
shown in Fig. B s F A AT T-P 3@ w1 waRfd o 7
Out of the following diagrams, which '

represents the T-P diagram ?
y 1

P 1

e Constant
p = Constant
\Y%

2
5 >V
oV
T . . : 5
2 !
W | / | g
1
I)
®)
®)
I)
s
2 1
| (©
o | -
:} I)
N
r ! 5 1 2
) | €
. ___..._....% I)
I)
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_ 1
A gas is suddenly compressed to 1 th of

its originai volume. Calculate the rise in
temperature, the original tempcerature being
27°Cand ¥ =1.5.

(A) 300°C
B) 327°C
(©) 327K

(D) 600°C

Certain quantity of water cools from 70°C to
60°C in the first 5 minutes and to 54°C in the
next 5 minutes. The temperature of the
surrounding is — '

(A) 45°C
B) 20°C
(©) 42°C

(D) 10°C

A particle of mass ‘m’executes simple
harmonic motion with total energy E. Its
maximum velocity will be —

21
m

(A)

-
%)

® =

.m
(C) 2mE

Oy 2mE

Wﬁuﬁm&s'mﬁmzﬁrigﬂw
wiifea # fean o @ | afe wRT o 27°C
F v =159, @ o # 3fg 2ef

(A) 300°C

B) 327°C

©)
®) |
%3 AR H TR 70°C / 60°C 7 391 8

327K

600°C

5 fie S & @ e 5 fie § S A

54°C 2 W1 @, A SR LA & —
(A) 45°C

®) 20°C

(C) 42°C

D) 10°C

m A B Tk 0 Fel Sl E @ TR e
a1ty o6 @1 & | SR S S & —

2
W a
2B
® =
(C) 2mb

(D) ~2mE
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10.

11.

12.

(A) 53°

(©) 106°

The relation between acceleration and

displacement of four particles are given

below. Which one of the particles is executing

simple harmonic motion ?

(A) ay=+2x

“(B) ay=+2x°

(C) ay=-2x*
D) a,=-2x
If a Young’s double-slit experiment is performed

by using electron waves produced by

eleetron gun, then fringe width will decrease if

(A) accelerating voltage of electron gun is
decreased

(B) accelerating voltage of electron gun is

increased
(C) distance between the slits is increased
(D) None of the above

A ray of light makes normal incidence on
the diagonal face of aright-angled prism as
shown in Fig. If @ =37°, the angle of devia-
tion is (sin 37° =3/5)

B) 127°

®») 90°

10, ar it 3 fory oo e § T

11.

12.

el T B | S @ T ° B STEd i R
@R

(A ag=+2x

B) a,=+2x>
(C) a,=-2x°
@) ..ax——"'.zx
o fye-Toefe &1 v edagd W g S
getagi ol @ e | B <l v A

Q) R T @ e e e

(B) To@A Tl wale e Jemn e
(©) fead % 51 g 7er 9
D) R F B

fegar o v i o g fien &
ol ge W eaEd Fid el & 13 @ =37°
21, A1 fere-hv1 89T (sin 37° = 3/5)

(A) 53°

B) 127°

®»y 90°
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13.

14.

As the Fig. shown above, the image of P when

viewed from top of the slab, will be

=15 1: 1'.5cm'.
l\ 1.5cm
p=1.5 1v\ 1.5cm
i 2cm .
-P

(A) 2cmaboveP

B)

1.5 cm above P

(C) 2cmbelowP

D)

The angular momentum of electron in hydro-

1 cm above P

gen atom is proportional to

(A)

(B)

(©)

Jr

1
1

12

13.

$ 1.5cm
:I: 1.5cm
$ 1.5cm

i2cm

‘P

FRIER e % SR A 3@ | P # uff @

14.

(A)

B)

©)

®)

P& 2 8. I
P¥F 1591 IR
P% 28 =R

P& 1 94 IR

Eﬁ@mmﬁsﬁﬁjﬂzﬁrﬁvﬂaww

2 B

A

Jr
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15.

16.

17.

®) E

Einstein mass energy relation is

[ m
(A) E= c_z

SN

mc

3] %

(©) E=

(D) None of the above

In N-type semiconductor, donor valance band
is

(A) above the conduction band of the host
crystal

(B) below the valance band of the host
crystal

(C) close to the valance band of the host
crystal ‘

(D) close to the conduction band of the host
crystal '

Two equally charged identical metal spheres
A and B repel each other with a force
2 x 1075 N. Another identical uncharged
sphere C is touched to B and then placed at
the mid-point of A and B. The net electric force
onCis '

(A) 4x107 Nalong AB
B) 2x107°Nalong AB

(C) 4x107 Nalong BA

(D) 2x 107 Nalong BA

15.

16.

17.

SR T geH Sl 999 §
A B
( )  =70
B) E=md

C2

© E= 4

D) SR Y R T
N-3hR 3 arefareres o g aavtt Se.8

(A) B Breeet o 9e J8 F S

(B) B Teheeet % TANH ¥ &

(©) v s e e i

D) @RW%W%%W

QA T GHF ARRT U1 e A T B TH-gR
F 2% 1075 N 7 @ vierepfifa o § | 971 el
% TIM FFRRE @ et C gl B ¥ g

AT B ¥ Weg-fg W e S g | CW A

forg et =61 9 A

(A) 4x10°N AB® fan @
B) 2x10°5N AB®H fan#
(C) 4x10°N BA® fend
@) 2x10°5N BA & fan#
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18. The capacity of a parallel plate capacitoris C. 18, &HIR &ie Hf’&, Tt 1 e C & | et & ey
Its capacity, when the separation between the _ 3}\3 &l s & fen S, gl i gt

plates is halved, will be

(A) 4C
(A) 4C
ot 5 @) 2C
C
(©) —(23 ' | © 3 .
C | c
) N ol . (D), y

19.  The value of stored clectrical potential energy 19, @enfer % dfua (stored) R Fva s &1

in a capacitor is AR
A U=CV A U=CV
B) U=—cv? ’ et b
=3 | B) U=5CV?
~ 1 2 1 V
© U=5qv, © U=59qv
@) U= ! 2v? D) U= 2 q*v?
' - gl ' i

3 w1 ¥ fordl 97e / SPACE FOR ROUGH WORK
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20.

21.

2.

At what temperature would the resistance of
acopper conductor be doubled of its value at

0°C, when @ Cu =4.0x10-3/°C
(A)  500°C

®B) 250°C

(C) 400°C

(D) None of the above

The resistance of an idcal voltmeter is
(A) Zero

(B) Infinite

© >1kQ

D >10Q

The radius of curvature of the pathof a charged
particle in a uniform magnetic field is directly
proportional to the —

(A)  charge of the particle

(B)  momentum of the particle

(C) energy of the particle

(D) strength of the field

' 20.

21.

A

IR FTereh o TRy 0°C R S 519 %7 Gy
R0 0 R B9, 5 Cu = 4.0x10°/°C 2 9

(A 500°C

(B) 250°C

(C) 400°C

D) IR T Y HE

O e dieeier w1 vy Gy 3
A =

B) FHa

© >1kQ

O >10

SR o1 A vy fy gy B, v
Gk g 8 T B S —

(A T F sy R

B) =01 % G &y
(©) & 6 It oy

(D) & 6 elgar 5

T &1 % ford 5o7g / SPACK FOR ROUGH WORK
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23.

25.

To make the field radical in a moving coil 23.

~ galvanometer

(A) the number of turns in the coil is -
increased

(B) magnet is taken in the form of horse-
shoe

(C) poles are cylindrically cut

(D) coil is wound on aluminium frame

Which of the {ollowmo when in motlon 24

cannot bc dcﬂcctcd by the mdgnctm field ?
(A) Electron

(B)y Proton -

(C) Neutron

D) Ioﬁ

The impedance of a circuit Lonslsts of 3ohm 25..

resistance and 4 ohm reactance. lhc power
factor of the circuit is -

(A) 0.4
B) . 0.6
©) 08

D). 1.0

Rl PItEIR OFTT

wTet el T (Tewier) % & i P
A &

() et 5 <t 4 e B

(B) HTH T K A H SRR for
ST B

Q) Y T SRR IR ST

(D) Freell A wepfiternt % 5 W e AT

EN
d

e 8 A T AR R g

Rt 7 2R 7
(A) TR

B) WiEm

© =

D) I

ek forge i ﬁ 3 3@ <1 el e 4 3w
;| g i i Ffeh IR
21 -

(A) 04
) 0.6

) 0.8

(D) 1.0

¥ & fodl so7g / SPACE FOR ROUGH WORK
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26.

27.

PART —II (Chemistry)
WY — 11 (T8 91)

In which d-orbital there are only two lobes ?
A dx?-y
(B) dxy

(©) d2

D) dxz

The dipole moment of HCI is 1.03 D If
- HCl bond distance is 1.26 A, what i 1s the % of

ionic nature in FIC1 9
(A) 17.03%
(B) 38.56%

" (©) 29329 -

28.

29.

D) 59.17%

An element (atomic mass = .100g.mol™ h
havmg BCC structure has unit cell edge
400 pm. Then density of the clcmcnt is

(A) 10.376 gcm-3
(B) 5.188gcm-3

(C) 7.289¢ cm-3
D) 2144 gcm-3 -

The half life of a radmaclwc compound is
50 years. What % of it will decompose after
200 years ? ? :

A 75%
B) 82.5%
(©) 93.75%
D) 9625% -

26.

27.

28.

29,

FH- @d%&mﬁ%ﬂaam&obu)‘@ﬁe ?

(A) dx —y?

(B) dxy

(©) d7

(D) dxz

HCI#1 fgga ampf 1.03 D 8, af HCl 4 4
g 1.26 A &, & HCI %1 % arafes wgfy
87

(A 17.03%
B) 38.56%
(C) 29329%

D) 59.17%

W TR (THI GAA = 100 W Ay %

. 1 o WWWW%WWO pm¥,
?ﬁa%ama:faém

(A) 10.376g-cm—~3
B) 5:188gcm-3

(C) 7.289g cmm-3
. (D) 2144 gem3

wh fedifde N B ad-amg 50 a8 3 |

& 200 3 fRe o (e foafe v 9

A 75%
B) 82.5%
(C) " 93.75%
D) 96.25%

¥ 1 & forld STE /SPACE FOR ROUGH WORK
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30.

31.

32.

For the reaction A + B== C + D, the rate
constants for the forward and backward

reactions are found to be 4.2x1072 and
3.36 %107 mol ™' S respectively. What is

the equilibrium constant for the reaction ?

() 115

®) 12.5
(© 80
D) 6.0

Heat of formation of 11202 is —188 kJ mol ™!

and H,O is ~286 kJ mol ™. The enthalpy

change for the reaction
24,0,+0, —» H,0 +0, is

(A) 386 KJ |

B) 384KkJ

(C). 196KkJ

D) -394kl

“The quantity of clectricity required toreduce

12.3g of nitrobenzene to aniline assuming

50 % current efficiency is
(A) 28950 COLI](;mbS
(B) 23160 coulombs
(©) 5”79(.)0 coulombs

(D) 115800 coulombs -

30.

8.

32

FUGT A + B==C + D ¥ a5 @ U
s f1 @ frw w: 4.2 x1077 79
336 x10” mol L™ §7' &, A atfifsman =
vy TR T g 7

(AN 115

M) 125

) 8.0

®) 60

R T I-IQQﬁ ~188 kJ Wer ' 1,0

$1 -286 kJ Hie ! B, A 3@ Al
21,0,+ 0, - H,0+0,% T3

UREH arT :

(A) 386kJ

B) 384kJ

(€) 196kl

(D) -394KkJ

12.3 71, ARG % ol # sEed w

¥ o R s § el wieh, afg e H

Tad 50% &

(A) 28950 FeiH
(B) 23160 FAH
(C). 57900 ZeAH

M) 115800 F&AH

T FR % fordt ste / SPACE FOR ROUGH WORK
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33.  Considerthe following statements :

()  Gold number of sodium oleate is 0.4.

(i)  Vanishing cream is o] /water emulsion,
4ru

(i) - Zeta potentia] = TI;—— .

{v)  Cetyl pyridium chloride is a cationic
surfactant,
Which of the above statements are correct ?
A) Liv
B) i1, iii
©) i, iv

@ i

34.

CO,A
after cooling

Colourless
liquid -

Conc. HCI
NH4CNS

BloodRed | -
solution

The composition of @ is

(A) 67% Ni, 30% Cu, 3% M
(B)  54% Ni, 46% Fe
(C)  46% Ni; 54% Fe

D)  20% Al, 30% Fe, 50%Co

33. e w R S
) zﬁ%au‘aﬁfa@w%i 0432
@ R e e A 3 |

(iif) Gﬁaﬁmz%gr

() 8w e aeivres e sz 3

S A FT A R

W v

(B)v i, i, i

©) iiiiv

D) i, iii, iv
34, ' @

CO,A

R “'é‘w

Conc. HC|
NH4CNS

@ & G 3
(A 67%Ni, 30 %Cu, 3% Mn
B) 54% Ni,46%Fe
© 46%Ni, 54 % Fe

D) 20% Al, 30% Fe, 50% Co

T R % fordt srg / SPACE

FOR ROUGH WORK
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35.

36.

37.

Which of the following species are paramagnetic? 35,

@ TIE

() KoFe(CN),

Gi) [Cr (NH)J**

@) [Zn(NH3),J*

(A) i, ii, i, v

B) i, i, iv

(C) 1ii,iil

D) 1i,ii, i

Molecules showing correct order of acidic
character are

(A) MgO < Fe;03 < Pby03 < Sb,03
(B) CaO < PbO< S03< CLO;
(C) MnO < NiO <MgO <NO;,
(D) CaO < NiO < NO, < CL,07

White solid __4 5  oxide + colourless gas

\}/HI

O ®
Compounds A, B and C are
(A) Na2C03, Nal, [NaPy(HzO)]I
B) LiHCO,, Lil, [LiPy,] I
©) K2C03, KI, [KIPy(HzO)]

(D) Li,CO,, Lil, [LilPy(H,0)]

36.

37.

- A R

®

()

(i)
)
(A)
®3)
©)
D)

agaﬁ%ﬁamﬁqgmwwém%:

(A)
B)
©
D)

TIE,
K,Fe(CN),
[Cr (NH3) J**
[Zn (NH), J*

i, 1, ili, 1v

i, ii, 1

MgO < Fe,03< Pb,03< Sb203

CaO < PbO, < SO3< ClO,
MnO < NiO < MgO < NO»
Ca0 < NiO < NOz< ClL,07

@ -

Tred| A, SHAES + TEH i

AfeR A, B @ CEM

(A)

®)

(©)

D)

J/HI

© M @B

H,0

Na,CO,, Nal, [NaPy(H,0)II

Li HCO,, Li, [LiPy,} 1
'K,CO,, KI, [KIPy(H,0)]

Li,CO,, Lil, [LilPy(H,0)]

IF %1 % T ste / SPACE FOR ROUGH WORK
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38.  Consider the following: , - 38.

o

(iD)

(i)

(v)

AI(OH),, Ga(OH),, TI(OH)3 are
amphoteric.

PBrs, SbCls are most stable.

NO and NO; are paramagnetic.

Melamine is obtained from nitrolim.

* Which statements are incorrect ?

A.
B.
C.
D.

39. Bond order of NO is 39.

A)

®

1, iii, iv

i, iii, iv

1.5

2.0

©) .25

®)

40.  The oxidation state of NO species in

3.0

Na, [Fe(NO) (CN),] 2H,0 is ?

A
(B)
©)
(D)

-1
+1
+2
Zero

40.

@  AlOH),, Ga(OH),, TI(OH),3¥wauHf
g1

(i) PBrs W SbCls @il e § |

(i) NO T NO, Juiifes ¥ |

(v) Qe & Femmed aell § |

I~ HUF T T )

(A) i, iii, iv

B) i, iii, iv

©) i, iv

O i i

NO &1 79 79 8

A 15

B) 2.0
© 25

D) 3.0

Na, [Fe(NO) (CN),] -2H,0
T NO wffefier &t arferdiaror sraeen 3 '
A -1

B) +1

<) +2

®) T=

& %14 % for@ STg / SPACE FOR ROUGH WORK
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41.

42.

43.

44.

Which of the following cations, the aqueous 41.

solution is acidie ?
(A) Fe??
B)i vert
(C) Hg”

(D) All are correct

Which of the following exhibits highest molar 42.

conductivity ?

(A) [Co(NH,)ICL,
B) [Co(NH,),CIICL,
(©) [Co(NH,),CLICI

D) [Co(NH,), CL,]

In qualitative analysis, NH,Cl is added 43.

before NH,OH
(A) toincrease [OH ] conc.
(B) formaking HCI
(C) todecrease [OH] conc.
(D) statement is wrong
IUPAC name of
H,C-CH-CH,-CH - CH,Cl is
| l
CH, OH
(A) 1-chloro-4-methyl-hexanol-2
(B)  1-chloro-4-ethyl-2 pentanol
(C)  1-chloro-4-melhyl-2-hexanol
(D) 1-chloro-2 hydroxy-4-methyl hexane

ﬁmﬁaﬁmwwa?ﬁaﬁamawﬁa%?

(A) Fe

®B) Cr

(C) Hg?

(D) whwdE

forer 11 & o it wTerher e 1
(A)  [Co(NH,)ICL,

B) [Co(NH,),CICL,

(©) [Co(NH,),CLICI

) [Co(NH,),CL]

R RargdeT # NH,OH % 3 NH,Cl grefl
STl &

(A) [OH-]@igal i ggm #

(B) HCl FHH

(c') [OH "] @igdl ® Fei & oy

(D) A &

I‘IéC—_(III—I-CI-Iz—lC‘II oY) S|
CjHy),1120H

&1 [UPAC 94 &

(A)  1-FAR -4 -9 -gaaEia-2

®) 1-F-4-aR@-2 Yeerel

(C)  1-FER-4 A2 R

(D) 152 BrEgerst -4 e g

< 14 % ford wTg / SPACE FOR ROUGH WORK
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45.

46.

47.

If a compound on analysis was found to
contain C = 18.5%, H=1.55%, Cl=55.04%
and O =24.81 % , then its empirical formula is
(A) CHCIO '

B) CH,CIO

©) C,H,0Cl

(D) CIC,HO _

Benzene on.reaction with conc. HNO, in
presence of conc. H,SO, followed by the
treatment.of Cl, in prcscncc of FeCl,, it gives

(A) 3-chloro-1 -nitrobenzene

(B)  2-chloro-1-nitrobenzenc

(C)  4-chloro-1-nitrobenzene

(D) mixture of 2-chloro and 4-chloro-1
nitrobenzene

MgBr.

()CH;CHO
B S S, )
(I H;0* @

The compound B is

(A)

' Me
® /\(<Br

- Me
© Br
/\\ ”
(I)) - wig
Br

HBr ) @

45.

46.

47.

afe G AR 3 oo C=18.5%, H=1.55%,
Cl = 55.04% W& O = 24.81% w1 711, &
IR TGN o B

(A) CHCIO

(B) CILCIO

(©) C,H,0Cl

D) CIC,ILO

Il B st T HNO, % @9 urg
H,S0, ﬁw@%ﬁaﬂﬁ%ﬁm Cl,
aﬁﬁm FeCl, # %R W 3e1E 31 3

(A) - 3- ?Fa\’lﬁaﬁﬁ? 1 -rEgrSfa

(B)  2-FAR! A~ 1 -z

(C) 4R A~ 1 -redielia

(D) 2-FR T 4-FAN -1 -AREEA 7

fasror
MgBr
__(DCH,;CHO HBr
(IDH;07" @ @
iR B R

Me

Br
A)
Me

(C) Br

Me

o) E<\ d

Br

Y %1 % fordt sTg / SPACE FOR ROUGH WORK

0812/IE-NSG/PP-M
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48.

49.

50.

Cyanohydrin of which compound on hydrolysis
will be Jactic acid ? 29 '

(A) TCHO
B) CH,CHO

() CIL,CH,CHO

(D) CJI,CHO
Acctoxybenzoic acid is qscd as

(A) Antidepressant

| (B) Antipyretic-v

(C) . Antiseptic
(D) Antimalarial :

o -D (+) -glucose and B-D (+)-glucose are
called i

(A) Geometrical isomers
(B) Anorers
(C) Epimers

(D) Enantiomers

48.

49.

50.

T dfirer % wreAEEA @1 et 3uEed
R ek e WTH BN 7 -

(A) HCHO

B) CH,CHO

(C) CH,CH,CHO

(D) C,, CHO
UHieTediamgs Sl T Bid
) R

B) SR

©) W{Lﬁ%

(D) weifarEd

@ -D (+) - T AT - D (+) - ThIE FEAT
% ' 5

(A) e T
B) TR

(©) v

(D) whifna v

T % % ford sw1e / SPACE FOR ROUGH WORK
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PART - III (Botany)
AT ~ I (swafe o)

51.  Chloroplasts are surrounded by :. . 51.

(A) 2 Unit membranes |
(B) 1Unitmembrane .
(C) 2Lipidlayers -

(1) 3 Unitmembranes

52. ATPsynthesis inmitochondria takes placein: 5,

(A) Matrix
(B) Inner membrane
(C) Outer membrane -

(D). Both A and Care correct’

53.  Which types of rRNA are found in 80S 53.

ribosome ?
(A) 28S, 188, 5S, 5.85

- (B) 25‘_5, 188, 5.8S, 10S
(C) 238,168, 58S, 138

(D) 28S; 168, 5.88, 128

54, Whichofthe following is a stop codon ? 54.

(A AUG
(B) GUG
() UuU

D) UAA

FANEE R 8l & -

(A) 2 e Tl gr

®) 1z e gr

(C) 2 fafte @i gr

D) 3 T i ga
Waﬁf%aﬁ@ﬁwﬁséwﬁm%:
(A)  Higwa &

B) - ¥a: gl 7

(C) m%@%ﬁ

D) TRH A G971 C G Th E
80S TEERM ¥ TRt TeRR o rRNA T S § 7
(A) 288,188, 58S, 5.8S .

B) 23S, 188, 5.8S, 10S

(C) 238,168, 58, 13S

(D) 288, 168, 5.8, 12S
P 118 A el A 3 0
(A) AUG
(B) GUG
(C) UUU

D) UAA

T &R % ford §1g / SPACE FOR ROUGH WORK
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55.  Which of the following does NOT take ‘pan in
DNA replication ? :

W)
(B)
(©)
D)

Ligasc
Helicase
DNA oxidase

RNA polymerase

56. Fricd egg shaped colonics arc formed by

(A)
B)
(©)
(D)

Mycoplasma
L. - Form bacteria
Both Aand B

Bacteriophages

57. Which of the following is true for TMV
( Tobacco Mosaic Virus) ?

(A)
B)
©)

@)

It has double-stranded RNA as genetic
material

It has single-stranded RNA as genetic
material

It has single-stranded DNA as genetic
material

It has an envelope around its capsid

58. When genetic material from onc bacterial cell
is transferred to other cell through Bacterio-
phage, the process is called

AN
®)
©
)

Phageduction

Transduction

- Transformation

Transcription

55.

56.

7.

58.

ot 3 8 o S u . Topowt & vy =it @ 7
(A)

(B) e

(C) @wAn Fferaes

(D)  FRTLY e

el gY Iy It woed (i) w AT
Tora ST R

(A) AR GRI

(B) TH-W®H AR gr

(C) AT BT el

D) Sttt gr

2R I TR (TMV) S eeg a3 3
=57 T 8 ]

B) ﬁﬁa@a&mwﬁ%wﬁq@u

HRTA.T B B
(©) ﬁﬁa@aﬁmwﬁimmﬁwﬁﬁa
EASREGI R
D) T Htae G T gRI R B
S U Tofny] R | SR derd qur

ﬁﬁm 3 shempdsh gry wrAwRe fomur S

2, A =g Tl seend 8
(A) TSR
(B) CFUEHH

(C) ERIwHIH
(D) grafshe

T F1 & Tl 5018 / SPACE FOR ROUGH WORK
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59.  InFunaria leafy gametophytic stage, which 59.

develqps sex organs, is called
(A) -Secondary protonema
(B) Primary protonema

(C)  Sporogonium:

(D)  Gametophore

60.  Selaginella is characterized by : - 60.

(A) Rhizophore

(B) Heterospory
(C) Ligule

(D) Allofthe above

61.  Which one of the following is NOT related to 61.

pinus ?

(A) Mycorrhizic roots

(B)  Companion cells in phloem
(C) Dwarf shoots

(D) Seed formation

62. Fruitwall (Pericarp) in angiosperms, develops = 62.

~ from:
(A)  Ovarywall
(B)  Ovarywall and outer integument of ovule
(C)  Outer and inner integuments of ovule

(D)  Ovary wall and both the integuments of
ovule

) oo mesm

(B) v T

(C) R

D) AR

frctforen & ot & & o i e B
(A) TR

B) e (Rt

(©) ferga |

D) IS Tt

et 3 & A wre @ dfer e e 9
(A) TR

(B) WeieH # welt Bl

(C) . =it wmany

(D) i v famio

o & wer fuftr o @ 3

(A aenE Ry a

.(B) Suerr fife wE fienoe % amm s @

(C) g % a1 W affafes aTeror ¥
(D) swegr il wa <fisive % AT sl O

T F & TR s7g / SPACE FOR ROUGH WORK

0812/IE-NSG/PP-M [23]

Set— A

R 3 woiges Miwee s, R w S



63.

64.

65.

66.

67.

Which one of the following is NOT a
micronutrient ?

(A) Zinc
®)
©)
D)
At the end EMP produce total of

Molybdenum
Boron

Magnesium

(A)
B).

6 ATP

8 ATP

(C) 38AIP

(D) 10ATP

For short day plants, the critical period is
(A) Light

B) Dark

(C) Evening

(D) Moming

Pfr —P_conversionis caused by
(A) Bluelight

(B) Redlight

(C) Far-redlight

(D) Allthe above

The concept of ecological pyramid was

* proposed by
*)

E.P. Odum
A.G. Tansley
Hieckel
Charles Elton

®)
©)
D)

o va P B

63.

64.

65.

o 1 ) A g O et T 8

©) FREE

EMP & < # 70 2 %l

(A) 6ATP

B) 8ATP

(C) 38ATP

(D) 10 ATP ;
B fort et el 7 il o Bt € 7
(A) TR

(B) STERR

(C) =S

(D) et

P, — P, ufad frad g 7

(A) i v

(B) A WHERT

(C) o A Yol

(D) T T

iRt frfe H EuREn B RGd
Bl

(A) 3. . A

(B) T S

(C) . &R

(D) = Geed

T %1 % ford wrg / SPACE FOR ROUGH WORK
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68. Ozonosphere is found in
(A) Ionosphere
(B) Thermosphere
(C)  Mesosphere
(D)  Stratosphere

69. A food additive that prevents color and flavor
lossis

(A) Yeast
(B) Salt
.(C) Ascorbicacid
(D) Sodiumbenzoate
70.  Which part of coconut produce coir ?
(A) Epicarp
(B) Mesocarp
(C) Endocarp
(D)  Pericarp
71.  Human insulinis commercially produced from
(A) Escherichia
(B) Rhizobium
(C) Mycobacterium

(D)  Saccharomyces

68.

69.

70.

71.

(A)  HIHUES §

®) e H e

(C) wezmvga &

D) FAERR F |
1 T TG /G A T 8 Y 9 i @
wdifea 2

A) e

B) wH

(©) Tl s

D)  wfeam dsiag

AR 6 HT-GT HAT HR I el § )
(A)  gimd

B) i

(C) woEd

D) Yhewrd

A SgIel ol Haie &R R R Seqrem
e e 9

(A) Tl

B) ueSifRm

(C) HEHF

- (D) GERRE

T w1 % T 318 /SPACE FOR ROUGH WORK
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72. | Alec Jeffery is associated with “
(A) DNA sequencing
B) PCR
(C) DNA fingerprinting
(D) RFLP
73. Bacillus thurigenensis is used to control
(A) Insectpest
(B) Bacterial pathogen
(C) Fungal pathogen
(D) Alloftheabove

74. Inplantbreeding, which is NOT a method of
selection ?

(A) Mass selection
(B) Pure line selection
(C) Clonalselection
(D) Hybridization

75.  Zymomonas mobilis is used for the production
of which of the following ?

(A) Organicacids
(B)  Alcohol
(C) Enzymes

(D) Vitamins

72.

73.

74.

73.

ok SR et § 7
(A) DNA FH&TI A
@) @ ImA

(©) DNAWﬁ
(D) RFLP &

efew sgltvaRm & e fee w6
(A) He U=
(B) Sftenfoses T

(C) e Y

(D) SWih
IeY SRR & -2 fafty w7

(A) T W
B) g fh s

(C) T (FAMA) |

D) T

AR Aifeia w sgE T § | e
forwrfor 3 forg fora ST € 7

(A)  wHE |

(B) FFehlgd

(C) T

(D) foefi

% F71 % T 5978 / SPACE FOR ROUGH WORK
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76. Match Column 1 and Column —1II :

PART - IV (Zoology)
AT - IV (9ofi )

76. Wﬁg‘ﬁ%ﬁﬁ

Column-1° Column - IT A - | HAT 11
a. Glycogen p. Hormone a TATZRIAT p. ERAF
b. Globulin q. Biocatalyst b T(;ﬁzq\ﬁqq q e
c. Steroid . Antibody c. e PO i 1
d. Thrombin s, Storage product d ode s. wha S
(A) a-r, b-q, c~s d-p (A) a-r, b-q, c-s d-p
B) a-s, b-q c-p, d-r B) a-s, b-q, c-p, d-r
(©) a-=q, b-s, c-r, d-p © a-gq b-s, c-1, d-p
@) a-s, b-r, c-p, d-q @) a-s, b-r, c-p, d—gq
71.  Cells of germinal epithelium are 77. v aieRiifern o Rl ae R
(A) Cuboidal (A) FEEe
(B) Columnar (B) ﬁw
(C) Squamous (C) om
D) Ciliated (D) difaRe
78. Which is related to oxygen toxicity ? 78. RIS % Tede e @ wrealRe
(A) Blood poisoning (A) T H Tl g _
(B) Collapsing of alveolar wall B) TSR H R w1 MUy F e wE
(C) Failure of ventilation (C) =g 7eg IR B
(D) BothAandB D) A@HBGH

79.  Ablood group does not have any antigen but 79.

possesses both a and b antibodies. It is

(A)
B)
(&)
D)

A

O.
B
AB

AT B QR BRI e S E, § |

A A
B) O
© B
©) AB

T F1 % Tl 318 /SPACE FOR ROUGH WORK
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80.

81.

82.

83.

84.

During muscle contraction

(A). Chemical energy is changed to
clectrical energy

(B)y Mecchanical energy is changed to
chemical energy

(C) Chemical energy is changed to physical
energy '

(D) Chemical energy is changed to

mechanical energy
Which hormone is a modified amino acid ?
(A) Progesteron
(B) Prostaglandins
(C) Epinephrine
(D) Estrogen
Cryptorchidism is a condition of test is —
(A) Unable to descend in scrotél sacs
(B) Unable to produce sperms
(C) Having been surgically removed
(D) Having remained undeveloped
Mosaic cleavage occurs in
(A) Ca_mel
(B)  Dogfish
(C) Whale
(D) Echinococcus

Ageing is due to accumulation of harmful
proteins. The theory is

(A) Freeradicals
(B) Cross- linking
(C)  Error catastrophe

(D) None of the above

80.

82..

83.

(A) TaEhe S, g owt # it
e
(B) it F, waEhg el # ufefia

BT B
() TaEkE o, dfe st qﬁa%a

G
D) TEEHE I, aﬁmmﬁuﬁaﬁa
e
A B wRE U 3 B 7
(A) TS '
B) TRLFATEA
© YwmbE
O TENA
Brersfeen g 1 v Rt 2
(A) TR T % IO H SEEedl
B) - A foior 7 s
(C) weafsman grRI g™l ST
(D) Sreufeeniid T8 ST 3
(A FHEH
(B) o0 Hael d
(C) =ad
D) TEARFT A
FHAHEE A % ST 89 O 97 Tl &
g g &
A) i
B) wra-fafE
(C) TR HeRw
(D) IR § Y AE A

. % %14 % ford WTE ASPACE FOR ROUGH WORK
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85.

86.

87.

88.

89.

Match Column —Iand Column -1 correctly :

Column -1 Column -1
a.  Monohybrid cross p. Tandt
b.  Testcross: q TT
c. Aleles r. Ttx Tt
d.  Homozygoustall S tt

o 1 t Textt

A a-r, b-t, c-s, d—gq
B a-t, b-1, c—q, d-s
C a-r b-t, c—p, d—q
D a-r b-p, c-t, d—gq

Which amino acid is substltuted in SlelC cell
anaemia ?
(A) Glutamic acid by valinein ¢ - chain. .

(B) Glutamic acid by valine’in 3 - chain
(C) Valine by Glutamic acid in f3 - chain
(D) Valine by Glutamic acid in ¢ - chain

‘Which pair of features rcpresents polygenic

inheritance ?

(A) Human eye colour and sickle cell

. anaemia

(B) Hair pigment of mouse and tongue
rolling in human

(C) ABOblood groups inhuman and flower
colour of Mirabilis Jalapa

(D) Humanheight and skin colour

Antibodies in our body arc complex

(A) glycoproteins

(B) lipoproteins

(C) steroids

(D) prostaglandins

One turn of B-DNA double helix spansa

distance of

(A) 34nm

(B) 2.46nm

(C) 4.56nm

(D) 4.26nm

85. -

86.

87.

88.

89.

aaranlamnwﬁqﬁazm

.- RIAH — I W—II
a. - AFERHE H p. T @t
b, H#HE q. TT
¢ we I Tt x Tt
d. - BT e s, tt

| _ t Ttxt
A . a-r1 b-t, c-s, d-q
B a—t, .b—r, c~q, d—s
C a-r, b-t, ¢c—-p, d—q
D a-r . b-p, c-t d-gq
Hrere Tt AR § ng-ar v 3 feeanfua
B 7

(A) - & I g el 3

B) B-o & A gRY eI S
(C) -3 # woprfireh 3t gRI alferd

D) -3 T e 3 grr Al

-t Aeqr I S dieliaifie Zeied welkia

FRATR 7

(A) HIH % g 01 Y Rl det G

(B) WISQ % el o 1 a1 I h W H g

(C) W%ABOW,WWW
ST R

(D) ungﬁt:ws‘amamwm

- AR R e § e Wi

(A) TR

(B) ERIWEH

(C) wWgg

(D) T
B-DNA &7a1 2fererd % w a4 &l gl 8t 8
(A) 3.4nm

(B) 2.46nm

(C)  4.56 nm

- (D) 426nm

T H % T W18 / SPACE FOR ROUGH WORK
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90.

91.

92.

93.

94.

95.

)

Population pyramids are usefulto

(A) expressthe populatioh growth rate
®)
©
(D) indicate the death rates

Which of the following is NOT the locomotory
organ of protozoa ?

(A) Cila

(B) Flagella

©
®)
Among the following, a poisonous lizard is

express the age-sex distribution

indicate the birth rates

Parapodia
Pseudopodia

" (A) Walllizard

(B) Heloderma
(C) Chamaeleon
(D) Veranus
Man originated in

"(A) Palaeocene

(B) Miocene

(C) Oligocene

(D) Pliocene

Continuity of germplasm theory was given by
(A) De Vries

®)
(C) Darwin

(D) Lamarck

The mouth part of honeybee used.to mould
wax and adhere pollen is

(A) lingula
(B) - labum
(C) labellum
labrum

Weismann

90.

91

92.

93.

94.

98!,

ST Y g ® T H
ang-fom % ot 1 7@ A
(C) THRIIH H

D) TG R AW d

o B  A-a1 AT o6l Ve 3T 9E © 7
(A) difern

(B) i

(C) Tifean

D) e

o 1 e Selieht foueett € 7
(A) T feramé

B) A

(C) Al

D) W |
w1 g g

(A) UldEE

(B) TRIRE

(C) aiferid=

D) wiEr ,

SHfeerTen < i =W fohaes g ff 8 7
(A) g

(A)
(B)

B)

(C) el

D)

& @ ST T o 3R Aiee ww d
Ao o Fges @1 W wRar @

@) e ’

B) e

(C) oo

(D) BH

T %1 % ford o1 / SPACE FOR ROUGH WORK
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96.

97.

98.

99.

100.

Dangue is caused by

(A) Female anopheles
B) & Female aedes ; |

(C) Male anophélgé.: | “
(D) Alltheabove
Sarcoma is cancer of

(A) epithelial tissue

(B) mesodermal tissue
(C) blood

(D) endodermal tissue
AIDS virus has

(A) Single strand DNA
(B) Double strand DNA
(C) Single strand RNA
(D) Double strand RNA
Addictionto LSD leads to
(A) DamageofLungs
(B) Discase of Kidney
(C) Damage of Liver
(D) Hallucination

96.

97.

98.

99.

Insecticides generally attack _ 1 OO

(A) respiratory system
(B) nervous system
(C) muscular system

(D) circulatory system

& foreh g et B 7

(A) Tl TR

(B) & I

(C), R GAIftRefist
D) SHs aft
RBMT Teharet R B
A)  Fdefifoae s
(B) HidreHd Fah
© w

(D) TieH T
UgH 1R Bl §
(A) faEE DNA
(B) TWAEIDNA
(C) el &g RNA
(D) @ &g RNA
LSD t ufea

(A) TS o1 SHW Tl B
B) I A il R

(C) T A HT

D) TR R

. AT QAT HlHT AT & —

(A) G T R

(B) a3t &
(C) e T
(D) TRFeted T

I w1 % fod wrg / SPACE FOR ROUGH WORK
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I offRad A wT Uud . 2 W stforeran 3w : 100

Time for making answers : 2 Hours Maximum Marks : 100

e -

1. 3u v g 100 S 3| v we 1 % w R | wh S g w0 wbed §

2. wwgfﬁwﬁwm—wﬁm:aﬁ%&sw,%ﬁam:mm,qﬁamm
seqfy W, wqd 9E o 9o el wwed oy dRad g

"3, wEl ¥ W, @ W OMR Isw-wie (em=m dfie) W Al hiRm|

4, FOTCH® oA TE TR SR

5. frfl f Tm ¥ Pogw W O YW w Aeda B W W ahi g

OMR I®-Te (e W) 1 W & a9 W wE syt 7 ad el 98 we R
o sl Mg @ fiee o ws IR Res weRawy 9§ W ® 9@ |

Notes :

1.

2B L T o

This question booklet contains 100 questions'. Each question carries 1 mark. Answer alil
questions.. ,

This question booklet contains four parts — First Part : Physics, Second Part : Chemistry,
Third Part : Botany, Fourth Part : Zoology. All questions are compulsory.

Indicate your answers on the OMR Answer-Sheet provided.
No negative marking will be done.
Use of any type of calculator or log table and mobile phone is prohibited.

While using Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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